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Logical Reasoning - Dictionary English

Q:1 Arrange the following words in the order in which
they would occur in dictionary.

|. Keratosis

IIl. Kidnapped
I1l. Karakoram
IV. Kabbalism
V. Kashubian
1.V LIV L
2.1, 1V, V11,1
3.V ULV L
4.1V, 1, V11,1

Q:2 Arrange the following words in the order in which
they occur in dictionary.

I. Quality

Il. Queen

lIl. Quarter
IV. Quarrel

V. Question
1.LIVILILY
2.1V 10,110,V
3.0L LIV, VI
4.1, L1,V IV

Q:3 Which word will come 2nd from the right end when
we arrange all the words in dictionary order from the left
end?

. Billing

. Boxer

. Boom

. Bored

Beat

. Bureau

. Bored

. Boom

. Bureau

. Boxer

BWNaO O ®N 2

Q:4 Which of the following sequence represents the
correct dictionary order of the following words?

. Right

. Rinse

. Ride

. Risky

. Riot

.3,1,2,54
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2.4,5,2,1,3
3.3,2,1,5,4
4.3,1,4,2,5

Q:5 Which of the following sequence represents the
correct dictionary order of the following words?

. Singer

. Seldom

. Sticker

. Start

. Sick
.2,5,1,4,3
.2,54,1,3
.2,51,34
.2,3,1,4,5

A OWON=2 R ON =2

Q:6 Select the option that represents the correct order of
the given words as they would appear in an English
dictionary.

1- Critical

2- Crisis

3- Cricket

4- Crimson

5- Criss

6- Crispy

7- Criteria

1.3,4,2,56,7,1

2.3,4,2,6,5,7,1

3.3,4,6,52,7,1

4.3,4,2,6,5,1,7

Q:7 Arrange the given words in alphabetical order and
pick the one that comes last.

(a) Lashings
(b) Lapping
(c) Lattice

(d) Lavishingly
(e) Longitude
1. Lashings

2. Lavishingly
3. Longitude
4. Lattice

Q:8 Arrange the following words in the order in which

they appear in an English dictionary.
1) Scare
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2) Scatter

3) Scarce

4) Scent

5) Scarf

6) Scavenge
1.351264
2.315264
3.352164
4.315642

Q:9 Select the option that represents the correct order of
the given words as they would appear in an English
dictionary.

1- Greenfield

2- Geology

3- Gramophone

4- Generative

5- Gallantry

1.52,1,3,4

2.51,2,4,3

3.1,2,3,4,5

4.5,4,2,3,1

Q:10 After arranging the given words according to
dictionary order, which word will come at the Third'
position?

Television

Telescope

Telegram

Telecom

1. Telecom

2. Telegram

3. Television

4. Telescope
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IAnswer Key The correct dictionary order will be:
3. Ride
1. (3) 2. (1) 3. (4) 4. (1) 5. (1) 1. Right
6.(2) 7. (3) 8.(2) 9. (4) 10. (4) 2. Rinse
5. Riot
Answers and Solutions 4. Risky
So, 3,1, 2,5, 4 represent the correct dictionary order.
Q:1 The correct answer is Option 3i.e. IV, lIl, V, I, II. Hence, the correct answer is 3, 1, 2, 5, 4.
Understanding Application
. . Q:5 The correct answer is Option 1i.e. 2,5, 1,4, 3
The words in dictionary The correct dictionary order will be:
order are as follows: 2. Seldom
. 5. Sick
IV. Kabbalism .
hus. . 1. Singer
lIl. Karakoram Thus, 1V, 1L, V, 1, Iis 4. Start
the correct answer. .
V. Kashubian 3. Sticker
) So, 2, 5,1, 4, 3 represent the correct dictionary order.
|. Keratosis Hence, the correct answer is 2, 5,1, 4, 3.
. Kldnapped Q:6 The correct answer is Option2i.e. 3,4,2,6,5,7, 1
The correct dictionary order will be:
Q:2 The correct answer is Option 1i.e. I, IV, I, I, V 3- Cricket
Understanding Application 4- Crimson
The words in RArsis
L. 6- Crispy
dictionary order are: 5- Criss
|. Quality 7- Criteria
1- Critical
Hence, the correct order
IV. Quarrel is: 1, IV, 1L, 11, V So,3,4,2,6,5,7, 1 represent the correct dictionary order.
[ll. Quarter
Q:7 The correct answer is Option 3 i.e. Longitude
IIl. Queen Understanding
V. Question The arrangement is in alphabetical order:
(b) Lapping
Q:3 The correct answer is Option 4 i.e. Boxer .
The correct dictionary order will be: (a) Lashings
5 - Beat (c) Lattice
1 - Billing o
3 - Boom (d) Lavishingly
4 - Bored (e) Longitude
2 - Boxer )
6 - Bureau Hence the correct answer is Longitude.
Hence, 2nd word from the right end is ‘Boxer’.
_ . . Q:8 The correct answer is Option2i.e.31526 4
Q:4 The correct answer is Option 1i.e. 3,1,2, 5, 4 The given words appear as follows in an English
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dictionary,

3) Scarce, 1) Scare, 5) Scarf, 2) Scatter, 6) Scavenge, 4)
Scent

So,'3 152 6 4'is the correct arrangement in which the
given words appear in an English dictionary.

Hence, the correct answeris3152 6 4.

Q:9 The correct answer is Option 4 i.e. 5,4, 2,3, 1

In this question, you need to arrange the words as they
would appear in the English dictionary.

5- Gallantry

4- Generative

2- Geology

3- Gramophone

1- Greenfield

Hence, the correct answeris 5, 4, 2, 3, 1.

Q:10 The correct answer is Option 4 i.e. Telescope
According to the dictionary order

1. Telecom

2. Telegram

3. Telescope

4. Television

So, Telescope is in 3rd place.

Hence, Telescope is the correct answer.

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

GETITON

Google Play

«

English



